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1. Name the plant that is used to treat blood
pressure and is found only in India.

(A) Jamun
(B) Kachnar
(C)Babool
(D) Sarpagandha
2. Where is shrine (Dargah) of Khwaja
Muinuddin Chishti located?
(A) Gulbarga
(B) Lucknow
(C)Delhi
(D)Ajmer
3. Maharashtra Government has declared
Thane Creek Area as a sanctuary for
(A) Flamingos
(B) Gharials
(C)Pelicans
(D) Trout

4. The second capital of Maharashtra is
(A) Nagpur :
(B) Pune
(C)Kolhapur
(D) Nashik

5. Which one of the following books is in the
Shortlist for the Man booker prize 20157
(A) A Brief History of Seven Killings
(B) The Green Road
(C) The Year of the Runaways
(D) The Moor's Account

o 8 T ATH FATG T WA AT
I ¥ Fore f st @ 47 A W
AT ST 2

(A) ST

(B) F=wTT

(C) ==

(D) FRTET

EATSIT A Fredt i 2w wwt o R 22

(A) =Tt
(B) &&=
(©) feeft
(D) HAHT

TETTE JLAT - 3 qTOr P & T A F
o sreaTooy =i fe 27

(A) T (FATIHI)

(B) =fzam™

(C) sreifie (7o)

(D) z=2
LRGSR D GRRIE IR

(A) =TT

(B) T

(C) Fr=eTIE

(D) Arfars

forey & & T AT TEAF, A A TR 2015 F
arEferes # 27
(A)EW%@WWW
(B) T 7=

(C)= TIT 3% T T

(D) = qTH FAFTIE
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10.

Tana Movement was started by

(A) Tilka Manijhi

(B) Birsa Munda

(C)Jatra Oraon

(D)Kanhu

Which of the following languages is not a
part of the Dravidian Group of Languages?
(A) Tamil

(B) Telugu

(C)Malayalam

(D)Konkani

Where was the first International Earth
Summit held?

(A) Kyoto

(B) Rio de Janeiro

(C)New Delhi

(D)New York

Ramacharitmanas was written by

(A) Ved Vyas

(B) Maharshi Valmiki

(C)Mahakavi Kalidas

(D) Goswami Tulsidas

Under whose leadership did the Ulgulan
Movement start?

(A) Tilka Manjhi

(B) Birsa Munda

(C)Martyr Sahid Lal

(D)Bhukan Singh

10.

AT #fiEraT Fras o= fer ar?
(A) TorereT wisht

(B) faza quer

(C) 5= 39w

(D) #1g

TH F 4 ot AT 272 s w7 s
REIR

(A) e

(B) T

(C) "=t g1

(D) wi=Foft

$H ST 7eft fraw aiies wat gar a2

(A) T

(B) Fir 2 sy

(C) 7 faweft

(D) =i

TEANAATE F v # 97

(A) &g =1

(B) wEld Areefifn

(C)wETH Freftara

(D)t gerefiare

ST AT w7 et 3 ameesy gar o2

(A) Taeter wisfy
(B) faar quar

(C) ereit= smfzz =rer
(D) 7+ fiig
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1.

G

13.

14.

15

Which of the following laws prohibits
workers from leaving the tea gardens
without permission?

(A) Cripps mission

(B) Government of India Act, 1935
(C)Inland Emigration Act, 1859
(D)Government of India Act, 1858
Name the planet that is approximately
150 million km away from the Sun.
(A) Mercury

(B)Venus

(C)Earth

(D)Mars

Which of the following articles declares India
as a “Union of States"?

(A) Article 1 o3
(B)Article 9

(C)Article 23

(D) Article 360

Which of the following is the longest
National highway in India?

(AYNH1

(B)NH3

(C)NH5

(D)NH7

The first form of crypto currency is
(A) Bitcoin

(B) Chip Based Credit Card
(C)Virtual Credit Card

(D)E Wallet

11.

12.

13.

14.

15.

==t 7 Py o 3 sAmaa ATl 1 T
JrepeTfar 3 AT 6 AT A AT A 22

(A) e fae

(B) W HTHTT AfAfAaw, 1935
(C)yzem= e AfafA=w, 1859
(D) 5T ATETE fafa, 1858

T TE FTATH AAT, S G H AT
150 faferr fr ez 3

(A) 75

(B) =&

(C) =

P EE

B ¥ & # T AgEIR WA T TSAl HTE
(A) =25 1

(B) #=e= 9

(C)w == 23

(D) st === 360

Srefarfa i & #19 |7 UF A T FE8 TH=0
TTETT TS 82

(A) T 1

(B) mA.U= 3

(C) TiUa5

(D) AU 7

T TaT 7 AR T FATE ?
(A FremieT

(B) T amerfya w2z #1e
(C)THF Hfze FE

(D) % ateie
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16. What is the objective of NSSO?

(A) Supports public policy formulation not
only through research, but also through
representation of faculty in various
committees and commissions of the
Central and State governments.

(B) To provide statistical and other
information for the purpose of state or
national planning and policy
requirements.

(C)To provide efficient credit delivery
system in rural areas.

(D) Provides facilities for and encourages
research in economics at global,
regional, national and state levels.

17. The Governor of a State reports to the

(A) Chief Minister of the State

(B) Prime Minister of India

(C)President of India

(D) Chief Justice of India

18. Kartik Chandran has been awarded

MacArthur Fellow Genius Grant, 2015. He is

a professor of

(A) Soil and Water Conservation

(B)Earth and Environmental Sciences

(C)Dams and River Flow

(D)Building and Road science

16. wA.TH AT (NSSO) 7 3297 F1 £

(A)RWW\[@WWH‘%%HW
et & P wrafat sl et &
W%qﬁﬁ%ﬁ?mﬁ:ﬁ%wﬁ@rﬁ%
e frfor i1 =i <7

(B)%srmmﬁ'trarmaﬁﬁmwﬁ%
ﬁﬂ%ﬁfﬂ:ﬂiﬁﬂ%!ﬂ Wmﬁllﬂﬁﬁﬂl
TR FEAT)

(C) T St 8 Fperer T TS ST AT
FATI

(D)afeH, freftr, TS S T FE T

oy ST B WEETT A e
a7 HeATl

A Wﬁﬁ%ﬂaﬁﬁﬁﬁﬁﬁ%ﬁ
(A) 7T ¥ st
(B) T 3 =T T
(C) =T % Trgfd H
(D) STTEA 3 W =TT A

18. = S T At e st 71, 2015
& e T T 8 7z P ST 2 2

(A)HET & ST HTAT

(B) gt & AT fa=T
(OEICEEEIREIH

(D) st 7 F=F
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19.

20.

2l

22.

GPS aided GEO navigational system for
better management of airlines has been

developed by ISRO and AAI. It goes by the
Acronym :

(A) AKASH

(B) GAGAN

(C)SKYPE

(D)HAWA

The "Write India' Campaign, with which
many famous Indian authors, like Preeti
Shenoy and Amish are associated, is an
initiative by

(A) The Times of India

(B) The Indian Express

(C) The Economic Times

(D) The Hindu

A famous actor who played Spock in the
franchise Star Trek, passed away on
FEB 27, 2015. What is his name?

(A) William Shatner

(B) Leonard Nimoy

(C)DeForest Kelley

(D)James Doohan

What is the time period of Twelfth Five Year
Plan?

(A)2010-2015

(B)2012-2017

(C)2014-2019

(D)2007-2012

19,

20.

2

22,

T (ISRO) T .1 3mE (AAl) 51T TATATEHR F
2T T & A4, 0w FgrEagT (GEO)
FfEATee (q FrAnTET) Toret Bt £ f)
T Py afaft orsz & sraT strar 27
(A)AKASH

(B) GAGAN

(C)SKYPE

(D)HAWA

AT S I F TG TEF IS UL, TH A
et g 27

(A) T Zrew =i EfEa

(B) = == wHE

(C)= THIATTaT zrev e

(D)= fEg

=t it qfdreT e ft ff, S=wr FEB 27,
2015 ¥ fRe= 27 T SHFT ATH 4T 272
(A) Farferrs areme

(B) Fora=ts famta

(C)Rwr= F=fr

(D)srew TeT

AT TEAT T AT T THT-FATH FT 27

(A) 2010-2015
(B) 2012-2017
(C) 2014-2019
(D) 2007-2012
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23,

24.

25.

26.

Which language of Maharashtra is critically
close to extinction?

(A)Mehali

(B) Sidi

(C)Maijhi

(D)Dimasa

Yakshagana is a folk theatre form of which
of the following states?

(A)Karnataka o

(B)Kerala

(C)Tamil Nadu

(D)Andhra Pradesh

Who among the following was the first to
adapt western-style clothing when it came
into India in the nineteenth century?

(A) Muslims

(B) Bangali

(C)Parsis

(D) Dalits

The All-India Khilafat committee was
founded by

(A) Maulana Mohammad Ali

(B) P. Kalifulla

(C)Badruddin Tayabji

(D) Abul Kalam

23.

24,

25.

26.

waTry £ T f A AR T A qE A ®
FATL T 57

(A) Feet
(B) frt
(C) ==t
(D) fewmET

T T3 TS T A0 A0ET W 87

(A) FTa

(B) et

(C) nfireraTg

(D) @ter W=

Fefterdt ot # o AT qrArer A F
T & A?

(A) giEww

(B) =TTt

(C) wrt

(D) =fora

srfiyer ST feTR FAE F eI T 4?7

(A) =TT HIETHE AT
(B) . Ffergear

(C) FEEET ST
(D) LT HATH
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27.

28.

29.

Viticulture is

(A) Growing vegetables, flowers and fruits
for commercial use

(B) The science and art of cultivation of the
soil, raising crops and rearing livestock

(C)Breeding fish in specially constructed
tanks and ponds

(D) Cultivation of grapes

Name the field in which M.R. Poovamma

has won an award in 2015?

(A) Carnatic Music

(B) Tamil Literature

(C) Athletics

(D) Wrestling

A coalition government is

(A) A temporary alliance for combined
action, especially of political parties
forming a government

(B) Division of power between a strong
national government and smaller local
governments

(C)A social group of any size whose
members reside in a specific locality,
share government

(D) Power shared among different organs of

government

27. fafrwese (gran $) & 9ro Fa7 a9y 87

(A) arforfes 3w 3 fore afewat, g @ o=
FATAT

(B) Tt w fra Fen F7 s 7 e, woed
AT AT T TTAA

(e = & fafdfa & = qreat & e
EEER]

(D) sz F =t FTwT

28. T, gATAT ¥ 2015 ¥ B 4 ¥ TR

afdf B 22
(A) FAT=fT w5
(B) anfaer anfEex
(C)a=TE=

(D) Tt

29. TEEYT TR A AT FAT AHAS 87

(A)ﬁﬁwm%@mmﬂmﬁ%m
TSt al A A FEATE & (0 UE
FETE Y

(B) UF A TET HFT AT G BT
FTHTET & o 1 7T (AT

(C)ﬁ?@ﬁwqumﬁmwﬁm%
a7 v fAfire o § wd § e
AETFIT 2

(D)yFTFT T faferr ot 3 S ot F 72 7=
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¥

30.

31.

32.

33.

Recently, what rare celestial events did the

telescopes of NASA capture through Solar

Dynamics Observatory?

(A) A Double Eclipse

(B)A Nuclear Eclipse

(C)A record breaking Solar Flare

(D)A Super moon Eclipse

Which of the following organs DOES NOT

belong to human female reproductive

system?

(A) Placenta

(B) Uterus

(C)Qvary

(D)Vas deferens

Rancidity can be defined as oxidation of fats

and oils that changes

(A) Only the taste of food

(B) Only the smell of food

(C)Both taste and smell of food

(D)Only the color of food

Ammeter is a device that measures

(A) electric potential difference between two
points in an electric circuit

(B) electric current in a circuit only

(C) the strength and direction of a magnetic
field only

(D)both electric current in a circuit and
strength of a magnetic field

30.

3

32,

33.

wﬁﬁ,wﬁmﬁﬁ?nﬁ%ﬁﬁmw
(Wmﬁﬁﬁahﬁzﬁ}%mwﬁﬁﬁﬁﬁ
e T FEAT i e A ar?

(A) =a g

(B) =TT gher=H

(C) T FrtE fr=w T Hierd FIT

(D) U FIT T S

Froferfera i & F1 |7 397 qA ATRAT AT
et & w22

(A) THATT

(B) TaTeT®

(C) wveTerT

(D) arFATTRFT

AT F A F AT AR F T H
et frar = & &, e

(A\) SIS 3T FAE TS AL 8

(B) sfrer ¥ Faer ey aZan €

(C) SToT= T #47% & Ter AT A=A §

(D) TSt =7 Faet T qEAT §

T 77 TR, S FT AT E
(A)Wﬁﬁﬁﬂﬁz%ﬁﬁiﬁ%ﬁﬁ?

(B) == U AfFe H zefwg® F2
(C) e e & 7 arvar 7 fRem

(D)Wﬁﬁﬁﬁﬁiﬁﬁﬁ?#?#m
£ T &war
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34,

Which of the following is TRUE about

Pancreas?

(A)Pancreas is a part of only the endocrine
system

(B) Pancreas secretes only insulin hormone

(C)Pancreas is a part of both digestive and
endocrine system

(D)Pancreas secretes reproductive
hormones

35. Which of the following reproduces through

36.

37.

budding?

(A) Plasmodium

(B) Amoeba

(C)Yeast

(D)Paramecium

Which of the following organelle hosts the
breakdown of pyruvate into CO3, H.O and
energy, in plants?

(A) Nucleus

(B) Cytoplasm

(C)Mitochondria

(D) Chloroplast

X is a yellow powder and has pungent odour
if left open in air. It disinfects drinking water.
It is prepared by reacting slaked lime with
chlorine gas. Identify X.

(A)CaCOs

(B)CaClz

(C)Ca(OH),

(D)CaOCl:

34,

35.

36.

37.

e § & =i |7 v gy A § a8 £2

A
B

FeT e T OIS T T A &
(C)uT=T T =Tt T T UF G S
(D) ITSI=T ETHIH FT ATHET FAT 2

(A)
(B)

e & & fomdr af¥ (o) % ameam & d9m2
BRI

(A) =TeHIREH

(B) sfiaT

(C) i

(D) Trarfafiem
aferfaa # & w7 a7 stifae it & CO,,
H20 T ST # Tre%ae F 7997 &1 1T
FATR?

(A) F7 (g faerT)

(B) FIfarwTs=T (ATSEr=TeH)

(C)FHfUraT (Areerifsam)

(D) gftaerae: (Fiiree)

X et 431 &7 U urees & s Ay s g #
et FiE 2T ST & a7 zed & e e wrdt
81 72 T F Iy Fers wear 21 78
FrieeE T i F0 i F wiA T 70 A
T =TT 81 X fF wE=m w7

(A)CaCOs

(B)CaCl,

(C)Ca(OH),

(D)CaOCl;
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38.

39.

40.

41.

When some electrons are added to an
uncharged object, the object
(A) becomes positively charged
(B) becomes negatively charged
(C)remains uncharged
(D)gets damaged
Which of the following enzymes takes part in
protein digestion inside the stomach?
(A)Lipase
(B) Cellulase
(C)Lysozyme
(D)Pepsin
What would be the amount of electric
charge flow across a circuit, when 0.75 A
current is drawn by filament of an electric
bulb for 5 minutes?
(A)220 C
(B)300C
(C)225C
(D)210C
Which of the following traits is NOT a part of
Mendel's seven contrasting traits in Green
pea?
(A) Yellow and green colour of seed
(B) Tall and dwarf height of the Pea plant
(€)Smooth and rough stem

(D) Terminal and axial flower

38, W Frft ST T 3 Fe el I o

B9,

40.

41.

&, qraeg

(A) FHTTER T & AT & ST &

(B) THTTTHF T H ArforT 2T ST §
(C)arafafda &t &

(D) erfarred &t T &
ﬁﬁaﬁwmmw%wm%ﬁ
et onfarer ST 87

(AyFTETH

(B) &R

(C)aTEAIATEH

(D)ufeaT
ﬁ%ﬁ@%w%ﬁmﬁmsw
% 0.75 A =T FiE foraT ST E, a1 ¢ afie §
wﬁaﬁzgﬂaﬁﬂﬁwﬁﬁﬁ'@‘*ﬁ?

(A)220C

(B)300 C

(C)225C

(D)210C
ﬁaﬁrﬁﬁﬁ@raﬁwm@aw@wﬁﬁ%ﬁ
¥ T A ST F AT AR 82

(A) ey =7 e 7 24T
(B}W%lﬁﬁﬁaﬁ‘raﬁ?aﬁ?ﬁm

(C) freFT ST gTaaT aT

(D) st (eféeren) sire srefier (weforen) F
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42,

43.

44.

Which of the following is TRUE about

diaphragm?

(A) The diaphragm is arched in normal
expiration

(B) The diaphragm is perforated in normal
expiration

(C) The diaphragm is flattened in normal
expiration

(D) The diaphragm doesn't change in normal
expiration

Bio gas is also known as

(A)Helium gas

(B) Carbon gas

(C)Gobar gas

(D)Ethane gas

Which of the following is true about bisexual

flowers?

(A) They contain carpels only

(B) They contain both stamens and carpels

(C) They contain stamens only

(D) They contain either stamens or carpels

42.

43.

44,

et & & % a7 v srearhe F A §
(A) STEATHRT JTHTT THTIT o gt §
(B) =Teamihy araT=T TET ¥ fafEa 2
(C)zTeaTiey AT THT § F921 8

(D)ET=ATHT TTET=T HHIH § 98947 751 &

AT 9 T T35 ste7 777 & Y ST S 82
(A) Etferr

(B)FTd |

(C)3Trar e

(D) £

e & & 717 a7 v Iwaferft g=t F ar # 9
27

(A) SH Faef SET 2ATE
(B) IH T AT FU=T ZT B 2
(C) 7 et e BT €
(D) 4T 97 [HAT AT 3= FaT 2
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45,

486.

47.

What is latentheat of vaporization?

(A) Heat energy required to convert ice into
water completely without changing the
temperature’

(B) Heat absorbed when a substance
changes phase from gas o liquid

(C)Heat energy required to convert water
into steam completely without changing
the temperature

(D)Heat released when a substance
changes phase from solid to liquid

The electron affinity while moving from left

to right in period

(A) decreases

(B)increases

(C)remains same

(D)approaches zero

Balance the following equation to find out

the value of P, Q, X, Y and Z.

P CO> + Q H20— X CgH1206 + Y Oz + Z H20

(reaction occurs in the presence of sunlight

and Chlorophyll)

(A)P=12 ; Q=12 ; X=6; Y=6 ; Z=6

(B)P=6; Q=12 ; X=1; Y=6 ; Z=1

(C)P=6; Q=12 ; X=1; Y=6; Z=6

(D)P=12; Q=6 : X=1; Y=6 ; Z=6

45.

46.

47.

FrefrRTor T I ST FT 22
(A;mﬂﬁﬁ%ﬁma@ﬁﬁwmﬁwﬁﬁ
afrafia F 2 AT FIAT ST
(B)@wﬁgmﬁq%mﬁaaﬁ%_wﬁ
HFIT FoHT
{C)Wmﬁmﬁﬁtgﬁmﬁmﬁ

Wﬁmﬁmmﬂmmﬁa
e (TfiET)

(A)F% &1 ST &

(B) 9 AT &

(C) 7T A &

(D) 979 9% T AT

P. Q. X,Y 3% Z T 8T AT HEA & (10
FrarfRrfa e 1 Ao R |

P CO2 + Q H20~ X CeH120g + Y Oz + Z H20

{gﬁﬁmqﬁ%maa@rﬂﬁﬁﬁmﬁwﬁﬂ
2t 7)

(AYP=12;Q=12; X=6; Y=6 ; Z=6
(B)P=6; Q=12 ; X=1; Y=6 ; Z=1
(C)P=6 ; Q=12 ; X=1, Y=6 ; Z=6
(D)P=12 ; Q=6 : X=1; Y=6; Z=6
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48.

49,

50.

51.

In the periodic table, the element that has

the highest electron affinity is

(A) Copper

(B) Chlorine

(C)lron

(D)Mercury

Presbyopia is a refractive defect of visions

which arises due to

(A) gradual weakening of ciliary muscles
only

(B) diminishing flexibility of the eye lens only

(C)both gradual weakening of ciliary
muscles and diminishing flexibility of the
eye lens

(D)sudden dysfunction of ciliary muscles
and eye lens

In order to have a virtual image in a concave

mirror, the object should be placed

(A) between the focal point and behind the
mirror

(B) behind the focal point

(C)beyond the distance of the focal point

(D) between the focal point and mirror

Electric resistance is measured by a/an

(A) Ammeter

(B) Potentiometer

(C)Voltameter

(D)Ohmmeter

48. s wifioft ®, 1 & Tex T 3N T

AR (TTRAE) Ereft 27
(A) FIT

(B) T

(C) sz

(D)"Y

. ST iR T v avadE 21 2 o T g

ey e 1 T £
Ay Tty iRt i ol Fre
A

(B) %=t =TS 9 % FH 219 §¢ AFTSIGH F HL00
(C)ZrT, farferadt wimmfart ¥ oot Fusie
B 31 5 &9 F T 1 g Ao ¥

Enraus
(D) RferET wimafaw e aré & $r s
[EIEER

. A T F Uy gty o F o gy

(A) ¥z fig % i die ador & i
(B) ¥z Firxfgy
C)Ffgfigisar

(D) ¥z fafg sirT =or & ofirr

. ZAH A AT T ITFOT ErEge wfadre e 27

(A) uHtzz

(B) dréedmeT
(C) AreaTHt=T
(D) drgpeitex
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52.

53.

54,

55.

When a more reactive element replaces a

less reactive element from a compound, it is
(A)a double displacement reaction
(B) a displacement reaction
(C)both A &B
(D)neither A nor B
Why is Magnesium ribbon cleaned before
burning in air?
(A)to remove the layer of magnesium oxide
(B) because magnesium is not a reactive
metal
(C)to remove the layer of magnesium
dioxide
(D) because the layer of magnesium oxide is
unstable
What is the phenomenon behind the image
that you see in your bathroom mirror?
(A) Specular refraction
(B) Diffuse refraction
(C)Specular reflection
(D) Diffuse reflection
A blue coloured copper sulphate solution
turns green when an iron object is dipped
into it because of
(A) Release of oxygen molecules
(B) Formation of iron sulphate
(C)Release of sulphur molecules
(D)Change in pH

50, e fEefT A1 o gfer wfafmmsf= o=

53.

54.

556:

o wiBraTefier qeT %1 w4 8, 91 AT
(A)ﬁgﬁﬁ?wsrﬁﬁvng

(B) Foresme afafEan &

(C) AT B3I

(D) FATAATACTB
mﬁmwﬁﬁﬁﬁﬁﬁ@wwﬁm
it T ST 87
(A)Wﬁwmﬁﬁqﬁg;ﬁ%ﬁq
(B)ﬁ%ﬁﬁfmﬁwﬁqﬁwﬁﬁﬁmﬂﬁ%
(C}mefﬁrﬁgzﬁ%m
(D)?@ﬁﬂﬁ@mﬂmﬁﬁﬁm@?ﬁ

wﬁ%%ﬁq&aﬁw%ﬁﬁmm
Aoy ador # Z@ 22

(A) TR STAAT

(B) e TETC

(C) T TTEET

(D) REEEEREIES

S 4 ¥ T Fe6e ¥ T 5 Alg A
gﬁ%aﬁ%a‘r%ﬁﬂﬁﬁrﬁmm‘r%l FLEDS
T FTT FT 2

(A) sitarfer 5 srpelt 1 e
(B) T HEHE FT FAAT

(C) T F ALEAT FT fAHerAT
(D) pH # F&=T=
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56.

57.

Which of the following organ functions are
correctly matched?
(A) Gall bladder - Transports bile;

Liver- Releases insulin;

Pancreas- Stores bile;

Bile duct- Produces bile
(B) Gall bladder — Stores bile;

Liver — Produces bile;

Pancreas — Releases insulin;

Bile duct — Transports bile
(C)Gall bladder - Produces bile;

Liver — Stores bile;

Pancreas — Transports bile;

Bile duct — Releases insulin
(D) Gall bladder — Releases insulin;

Liver — Transports bile;

Pancreas — Produces bile;

Bile duct — Stores bile
If green coloured ferrous sulphate crystals
(FeS04, 7H20) are heated over a Bunsen
burner, the colour of the compound changes
with a characteristic smell. Identify the
products.
(A)Fe304(s), SO2(g) & SOa(g)
(B) Fe20a(s), SOz(g) & SOs(g)
(C)Fe20a(s) & SO2(g)
(D)Fe304(s) & S03(g)

et it e ) G aE w7 & fer @t § 87

(A) Ferrerr — o= afvae,
e — o I
o= T3 - oy g,
forer afeeeT - o sl

(B) firrer — iy TrgmT;

e - foer seafsr;
T U — Egfe I
ey arfeT - fw aftmsa

(C) fimmerT — frer weafy,;
ot - faer s,

e 4fy - fis afame,
s e - g <eafe

(D) firsmera — e e,
e - fis afies;

T 4o - fisg seat;
i AR - firsy s

. o B¥ O ¥ T wehe § fee (FeS0s,

7H,0) UF &8 a4 9 fm aro, &7 216
7 4 v fafore e & 9 a== T = A
Feqrat #T T L HEFA 27

(A)Fe30a4(s), SO2(g) & SOs(g)
(B)Fe20a(s), SOz(g) & SOs(q)
(C)Fe20s(s) & SO2(g)
(D)Fe304(s) & SOs(g)
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58. A Magnetic field is produced inside our body ~ 58. ST ST iz AT Frfarer % w1 @4 worar &

59.

60.

61.

when ion current travels along the nerve
cells. This magnetic field inside the body
forms the basis of obtaining the images of

different body parts and this technique is

called

(A)ECG

(B)NMR

(CYMRI

(D) X-ray

The sky is blue because of
(A) Reflection

(B) Scattering

(C)Refraction

(D) Dispersion

Vermiform appendix is a / an
(A) Homologous organ

(B) Vestigial organ
(C)Analogous organ

(D) Analytic organ

If the diameter of a circle is 7 cm, then
circumference of the circle is
(A)5.5 cm

(B)11 cm

(C)22 cm

(D)44 cm

59,

60.

61.

AT ZT 1T 3 SaT e 8 7 ST 2
9T ¥ e g TrFT et orfiT & A awr
*t gfEt e A T AT A @ 6T
A T AT FET AT 87

(A) EHTST

(B) UH.UI.AT

(C) TTH.3TT.3TE

(D) THE-T

aqrer e e & v graT 87
(A) TTEET

(B) e

(QEEEEE]

(D) v

(A) &1 T E
DERCEIEE]

(C) =&Y AT
()REERIERES

af frelt g Fr =T 7 AT &, I IT A
ufefer fraft £rft?

(A)5.5 &1

(B) 11 & 4t

(C)22 F.4.

(D)44 F 4.
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62.

63.

64.

65.

The population of a town is 176400. If it
increased at the rate of 5% per annum, what
was the population of the town 2 years ago?
(A) 160000

(B) 194481

(C)202100

(D)242354

A can finish a work in 18 days'and'B can do
the same work in half the time taken by A.
Then working together, what part of the
same work can they finish in a day?

(A)1/6

(B)1/9

(C)2/5

(D)2/7

The average of first 20 multiples of 7 is
(A)71.8

(B)72.6

(C)73.5

(D)73.9

The numerator of a fraction is half of the
denominator. If the numerator is increased
by 7 and denominator be diminished by 19,
the fraction equals 2. The fraction is
(A)7/14

(B) 12124

(C)15/30

(D)17/35

62.

63.

64.

65.

U Tl i FAEEAT 176400 21 7f gt 4fE
7T 5% wie 7 &1, a7 2 7 gget Seee Faer
A7

(A) 160000

(B) 194481

(C)202100

(D)242354

A TTF FT FT 18 fAT ¥ sfe B et Fd AT A
1T o o we & ad aea § 9 W "
21 AT AT AT FW FLS g, T AT FE AT
T T v i A w82
(A)1/6

(B)1/9

(C)2/5

(D)2/7

7 ¥ WaF 20 OIS FT 6T 2

(A)71.8

(B)72.6

(C)73.5

(D)73.9

e fyer 7 o, 3T A e 21 AR S H 7 A
iz Y It & S gw # 19 7 Fft A v 2,
A forer 2 s gr ST R AT Rw g

(A)T/14

(B)12/24
(C)15/30
(D)17/35
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66.

67.

68.

69.

The ratio of 44(3.5) : 2A5 =

(A)2:1

(B)4:1

(C)7:5

(D)7 : 10

In a 3 litre solution of water and salt, the
percentage of salt is 40%. If 1 litre of water
is added to this solution then the percentage
of salt will be

(A)33%

(B)30%

(C)35%

(D)25%

After allowing a discount of 10% a seller
wants to gain a profit of 20% by selling a
product. The percent by which the marked
price on the product should be raised above
the cost price is

(A)30%

(B)33.33%

(C)37.37%

(D)40%

The average of squares of first 20
consecutive even numbers is

(A)282

(B) 375

(C)574

(D)589

66. 47(3.5

—

205 T AT =
(A)2:
(B)4:
({Cyr:8

(D)7 :10

- e

. arY S TWE F 3 e g |, THE w7 afad

40% &1 #f% =0 e ¥ 1 #frex o e sar
2, T /¥R T AT AT FT ZT7

(A)33%
(B)30%
(C)35%
(D)25%

. 10% T 3F7 uF fFaar seare i &l 9w 20%

FATST FHTAT 1T 2| TR goF % S9¢ I8 T
ot o T wiavere sy strem =z e?

(A)30%
(B)33.33%
(C)37.37%
(D)40%

. TR 20 FHATTTT TH GEATAN G F A

T BT 22
(A)282
(B)375
(C)574
(D)589

Page 19 of 32



10D

¥

70.

7.

7t

73.

A can do 1/3rd of a work in 5 days and B
can do 2/5th of the work in 10 days. In how

many days both A and B can do the work,
working together?
(A)7 3/4 days
(B)9 3/8 days
(C)8 3/7 days
(D)10 days nac

If the area of a square field is 196 sq.cm,
what will be the length of the fence to bind
this field?

(A)28 cm

(B) 36 cm

(C)56 cm

(D)196 cm

A man's age is three times that of his son.
12 years later the father's age will be double
the son’s age. The man's present age is
(A)12 years

(B) 24 years

(C)36 years

(D)48 year

An aeroplane flies along the four sides of a
square at speeds of 200, 400, 600 and

800km/hr. The average speed of the plane
around the field is

(A) 200 km/hr
(B) 256 km/hr
(C)384 km/hr
(D)500 km/hr

70.

8

[

73.

A TF FH &7 1/3 wir 5 2 # T ghar 2 #fiv B
FH #72/5 T 10 R HFeawar 21 A die B
2T e e B o wa #0f 7 $5497

(A)7 3/4 T
(B)9 3/8 fa=
(C)8 3/7 famr
(D)10 &=

T U AR FETT FT A 196 79 AT 2
T = F=T % AT AT S qT TTE T AT
o &7

(A) 28 #ft

(B) 36 &=t

(C)56 &

(D) 196

T =riee £ 9 TEE = A T 21 12 75
a1e far 7 s 379 7 F sy 7 AT 2
STt sxfeE i adaT arg et 22

(A)12 39

(B) 24 &t

(C)36 =

(D)48 =%

o F1gATT 200, 400, 600 3% 800 . 91./4.
it 7Y # ueh At £ A et & A
I FYAT 21 HIT F AT AT ATLATH A ST
i et 82

(A) 200 5.7 /=
(B)256 .t/
(C)384 .t/
(D)500 .+t /5
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74. The diameters of the front wheel and rear 74. TF T A o 7 fieer o2t & sy wwen

wheel of an engine are 70 cm and 168 cm 70 FT. T 16? a4 &) Rege 7Ry #r ==
respeclively. How many times the rear {ﬁg ﬁﬂw*ﬁ #; T&gl;gmii E'EE_“ E‘;WI
wheel should fully rotate in order to cover ) :

the distance which the front wheel covers by
rotating 600 times?

(A)125 (A)125
(B)250 (B)250
(C)500 (C)500
(D)750 § (D)750
75. A cyclist covers a distance of 750 metres in ~ 75. ma@mq?;% 75%‘*:;&?:;%
2 min 30 sec. What is the speed of the i OPL Kk
cyclist in km/hr? 1 sl e &
(A)12 (A)12
i (B) 16
()18 (C)18
0122 (D)22
76. If the area of an equilateral triangle may be 76, T2 TF wwsst Briror %1 &tz R 1 =f
equal to that of a given square with a #W@ngwiﬁ‘m
diagonal of length 120 metres, then the e o TR
length of a side of the triangle is i
(A) 6042 metres (A) B0~2 Hfrex
(B)84.85 metres (B) 84.85 Hfrzx.
(C) 1203 metres (C)120+3 #ftax
(D)128.95 metres (D)128.95 iex
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78.

s,

80.

Which number will complete the series if
filled in the blank space?

25,11, 28747,
(A)93

(B)95

(C)96

(D)99

The ages of A, B and C'are 8'jedrs

10 months, 15 years 6 months, 12 years

5 months respectively. Their average age is
(A) 10 years 2 months

(B) 12 years 3 months

(C)13 years 6 months

(D) 13 years 9 months "

A rectangle of length 40 metres is bisected

by the diagonal of length 50 metres. The
area of each part is

(A) 150 sq.metres

(B) 400 sg.metres

(C)B600 sq.metres

(D) 1200 sg.metres

The area of a circular field is 38.5 sq.metres.
The cost per metre of a rope is Rs. 5. What

is the total cost of rope to fence its
boundary?

(A)Rs.96.25
(B)Rs.192.50
(C)Rs.55
(D)Rs.110

Tt

78.

79.

80.

et A% ST 9T e T HEer
(Frrer) =Y T Fh?

2.5 11.98.47 o

(A)93

(B)95

(C)96

(D)99

A, B 8 C #it srg wwar: 8 a5 10 w1, 15 99
6 TTE, 12 7 5 ATE | ST 4o oy FBradT
82

(A)10 7 2 |1

(B)12 7 3 g

(C)13 7 6 wTg

(D)13 a7 9 TR

40 HYzT =TS AT UF AT 50 Hew T

Tt grer e i T &1 gedE 9
CER T

(A) 150 7 Hrzx
(B)400 = ez
(C)600 =7 =z
(D) 1200 =% *frzx

T MATHT FET FT &% 38.5 FOHIeT 2
e TefT T Wi Wew T 5 w9 &) g6y F\r
T AqTE 79§ et v srfi?

(A)96.25 %
(B)192.50 %
(C)55%
(D)110%
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81.

82.

83.

84.

If a person incurs a loss of 25% by selling a
product at Rs. 150,the cost price of the
product is

(A)Rs. 125

(B)Rs. 175

(C)Rs. 200

(D)Rs. 225

If a retailer gained 16% profit by selling an
article at Rs. 40.60, then the cost price at
which he bought the article from the
wholesaler is

(A)Rs. 35

(B)Rs. 40

(C)Rs. 45

(D)Rs. 50

If an article is sold at the price which is 2/3
of a fixed price, there is a loss of 20%. What
is the percent gained, if it is sold at the fixed
price?

(A)20%

(B)25%

(C)30%

(D)35%

Which number will complete the series if
filled in the blank space?

DTS, iy B 2T

(A)30

(B) 31

(C)47

(D)52

81.

82.

83.

84.

#f2 uF =af7F 1 150 = § v 3TE 39 F7
25% T \TIT g1 2, T IR FT ARG T4
e ar?

(A)125 =

(B)175 %

(C)200+

(D)225 =

A I AT =TT ¥ 40.60 = ¥ wF 75 A9

FT 16% 19 FHAT A7, §T IH T F1 A10T

T 771 & o o7 39 =6 o = & = de
aqr?

(A)35 =
(B)40 =
(C)45 =
(D)50 =

af% vF T w1 Fuff ge7 ¥ 2/3 g
=t STt 2, A7 20% wrer g ) Aty T
fRreifa go o &= oo, A s afder ams
ZNTT?

(A)20%

(B)25%

(C)30%

(D)35%

e ¥ s a7 i o e gEer
GIE Bl wkaaivd

3, 118, ives  BIIDT:

(A)30

(B) 31

(C)47

(D)52
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85.

86.

87.

88.

Which number will complete the series if
filled in the blank space?

81, 82,84, 87, .......

(A)88

(B)89

(C)90

(D)91

1f 30% of A = 0.25 of B = 1/5th pérPEf C,
thenA:B:C=

(A)10:12:15

(B)10:13: 17

(C)10:12:13

(D)10:12:17

A train 220 metres long takes 20 seconds to
cross a platform 280 metres long. What is
the speed of the train?

(A)90 km/hr

(B)50.4 km/hr

(C)48 km/hr

(D)39.6 km/hr

If Rs. 672 is divided in the ratio 5 : 3, then
the greater part will be

(A)Rs. 252

(B)Rs. 420

(C)Rs. 572

(D)Rs. 602

g5, Trrea @ 99 9% F9 | e gaen

(FréT) F1  Fwo?
81,82, 84, 87, ..
(A)88
(B)89
(C)90
(D)91

. afX AFT 30%=B %7 0.25 = C #T 1/5 9T E,

TMA:B:C=

(A)10:12: 15
(B)10: 13: 17
(€)10:12: 13
(D)10: 12 17

. 220 Hi=w ST U 29 280 et e W EnE

FT 9T FTA H 20 FHUEH FT 9T AT 21 A A
fa Rt 82

(A)90 FrAT./=
(B)50.4 ../
(C)48 T+t
(D)39.6 FF.41./1%

. af2 672 = F75 : 3 F srqara # o Frar

STAT &, A T2 9 e g
(A)252 =
(B)420 =
(C)572%
(D)602 &
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ou.

90.

L WU T underake o do a pisca af wnrk
for Rs. 200. One alone can do it in 6 days,
other in 8 days. With the help of a boy they
finish it in 3 days. How much is the share of
the boy?

(A)Rs. 20

(B)Rs. 25

(C)Rs. 0

(D)Rs. 40

While distributing a sum of money among a
number of boys, a man finds that Rs.2 is left
if each one of them is given 48 paise,
whereas 60 paise is needed if he pays 61
paise to each one of them. Find the number
of boys.

(A)10

(B)20

(C)30

(D)40

89.

90.

7T afer o 14 #7200 & § FT T FALAAA
Srir %) e v =T 5 6 i A AL,
Zeer 8 & ¥ T | @) TF @54 I qgraar
F, % 23 3 R § o A o ) S AT
a2

(A)20 =

(B)25=

(C)o=

(D)4QE,, yar

a=HT ¥ qHE § T wier w1 frawse e s
Tz, U rfen ara & T afE weaE w1 48 7 Ry
ST E A7 2 = A 999 §, fig aft ag s
61 %% a7 & 47 60 F Fir % sraeaFr N
FEFT HiT HEAT TG

(A)10

{B}2D JA eTNiBd

(C)30

(D)40
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91, "arwaTe" 7g w3 ¥ e wahTe ¥ oo sargIm 27
(A) =rfraT= F37
(B) STferam== &=11
(C) FggaT= HT

(D) m=aT= =T

92, HeFd, WITET, FE, [T six Ararer § &
TR YT F BT E?
(A) TF
(B) 3T
(C) &=
(D) =TT

& 15 5T TEETS

93. a7 ¥ fFaw v 87

(A= Gt 6
(B) Eﬁ;[ T T
(C) =T

w

(D) a1

94, ' T FT BT BT | TH qETAY FT TET 74 FAT 7
(A) 7T EHT

(B) S=TE AT

(C) Fga =TT &A1

(D) &er 7 T

95. ST FHEAAT TH HATAL F1 7 AT 87
(A) F9T & =£ g7

(B) &TT AT

(C) Torefter germy o ===

(D) T ATEAT

96. T & ‘AT 95T FT T FIwAT §?
(A) &7
BT
(C) =
(D) 7T

97. T ¥ ALY &g " T ATRT 1 A = g
(A T

(B)

(©) &

(D) &T

8. ‘IFH' =g T TATAATHT 9752 FAT 2?2
(A) T

(B) arz=rs

(C) drgw

(D) =Tt

99. 'HTET 9r=x FT Iga9T 9 FT1 27
(A) =TS
(B) T=T
(C) ==

(D) =T=T

100. ‘SEFTT 5% FT AMTsaF o FAriAT |
(A) =TT 9T

(B) Hived

(C) ST AT TEAT

(D) AT
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101, =it T ST FE T AAFC Fg T 87
(A) FTITH HAFHTT

(B) STITH AEHTT

(C) T9% HA=HIT

(D) & ST

102. THTH FT T4 A T30 |

(A) T a5 & HFS 2

(B) HHTE H FH-T-FH &1 TEI F A 1T 8
(C) =TT wi¥er #7 gL &9 2

(D) FETH TH SEFT AT TF B E

103, "SI vz 7 i a=fR
(A) 5g

(B) ST+t

(C) st

(D) st

104. TATHATHT 9157 FT THIT ATH F4T £2
(A) fEreinT srex

(B) Ff& 9re

(C) HHATHF o=z

(D) 517 9155

105. "UrETHF" HAATH F ISTECW TAH & HIeaT 22

(A) T
(B) T=
(C) 7=
(D) #=

Direction for questions 106-120:

TS ATHT FT 74 T IT =7 F qT9T 21 FE AT
fSra e a7 9rEe T T 2T 2 e awrag 2
ST <T9ETT 1Y ¥ AW 9 Y 21 TSrATIT #T
g #ife Srar 21 T araT Ay Fer 7 Gk a9 2
T ATIT % AT F9qT FT GEEHE 900 24T g
TEAT FUSETT ¥ 9y dWT W Ogr av awar
& 7 oft 2w it Ay e qor A off
BT Tt g1 7 Zor F s o it oft S FeAT
BIAEFAEF =T ot R oo F w7 #
g fFafm &1 ¢y Rdar 199 € Ft 9T F
wfaam ¥ B F7 g www it v 2 6Fam £
ST 30 % ATATE HAT F7 F14 Fedl # a7 i30ft F
T StTaT 21 oy 28 o F efeta wrAt F Redes
FTFE FT-ATH T AT Ty a7 By F oar
ST F BT ST\ 21T 3¢ F e g Y
TrareTaT Bt st ffar Femmrdt gefr | 2w s
SHTE TIT TATE HferT Hgredr At 7 TREW 727 2
ST 3¢ § gty FT ey wd § Redt amar w
TIRT il F9 F o = T

106. TIEATNT & THE FE0 ¥ 7 75 § #1741
AR AE 22

(A) &= Hifoe Erar &

(B) |THTFT S WTOT

(C) =< For Y g syrar &

(D) ST T ATATTEAS T9T Fiepias 99T 2

107. TRt W T et S § B e
HI=IdT 9TH g5 27

(A) 1947

(B) 1948

(C) 1949

(D) 1950
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108. z r=ae 1 A # § 3fa ofrd= g
(A) TTSTSITET ST TTEATT

(B) HTaATEH HTHT

(C) Sr=TaT

(D) A== i HTET

109. 28 A7 ¥ AT § B w77 F =T AW
AT it 7 T 82

(A) AT FT STTe

(B) =t s #r

(C) dfaarfa= arar #r

(D) =fayor F¥ AraT F

110, sTedTT Ty srra =67 fog wroy A= i samar
AT 827

(A) F==

(B) =TT

(C) TsTereft

(D) =t

111, a7 2y TR fEedt sra &7 s s e
g #1 F oo #= A =T R
(A) T

(B) eTe HAT

(C) g

(D) <rrH= To7

112. SITSTTEY ¥ FTZ T 8 TISATATT F w7 F At
(A) Fa=
(GIREIED
(C) et
(D) st

113, wred v # R RRaw e werar S 22
(A) 3 s
(B) 24, srEd
(C) =& =T
(D) % e

114, B=5 s % =T uE v § e TeET
LEAKS

(A) FETeRT TS

(B) STATETATH HEE

(C) TaTq =7 9

(D) ST JehrST ATLET

115. &= Y TrereToT Bedt aar i ey #
Feoe TH g2

(A) T ®

(B) iEemT &

(C) e ¥ 33 awr
(D) =T &= 3 T

116. TTSTATT FT AL 4T 87
(A) Zor T ATaT

(B) 1 it AT

(C) Tr=iT 71T T A AT
(D) FEafarat &t wror
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117 #f3em= ¥ 5 amer 3 siasta wwa o wef
FATT TRl AT ST F e i 3o 27

(A) 97T 2% 0

(B) &7 20

(C) T 3%3

(D) umam 3%

118. et st iy oy =7 22
(INEUEES

(B) AT

(C) =Tl

(D) =t

119, =78 & Fraeft grer =t amor ¥ oo s
BELEA

(A) 82T S0 0

(B) & £ %0

(C)umT 2¢0

(D) 97T 3%3

120. 7157 Frarav=e & w1 FomT ey sy w57
e w@fFam £t B arr w7 £2

(A) 8T 2 20

(B) =T 3% 3

(C) & 39

(D) &3 3%y
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Space for Rough Work:
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Instructions / fder

Please read the following instructions carefully:

1. Write your Roll Number, Question Booklet Number and
Question Booklet Series on the OMR Answer Sheet
carefully and sign at the appropriate place. Please note
that in absence of the correct Roll number, Question
Booklet MNumber and Question Booklet Series and

Signature on the OMR Answer Sheet, your OMR Answer
Sheet will be treated as invalid and will not be evaluated.

2. Strictly follow the instructions given by the Centre
Superintendent / Centre Observer/ Room Invigilator and
instructions given on the Question Booklet.

3. Candidates are not allowed to carry any papers, notes,
books, calculators, cellular phones, scanning devices,
pagers elc. to the Examination Hall. Any candidate found
using, or in possession of such unauthorized material or
involved in copying or impersonation or adopting unfair
means or behaviors will be disqualified and may be
subjected to penal action.

4. This examination is of objective type. The question
Booklet contains a total of 120 questions and the total
time allotted is 120 minutes. All questions are compulsory
and carry 3 marks each. Every correct answer will gat 3
marks and 1 mark will be deducted for each wrong
answer.

5. The candidates must check that the Question Booklet
has 120 questions with multiple choice answers. If any
discrepancy is found, immediately report to the Invigilator,
so that Question Booklet may be replaced.

6. Each objective question is followed by four answers
among which one is comect. Your task is to choose the
correct answer and mark your answer on the OMR
Answer Sheet, NOT on Question Booklet.

7. Completely darken the CIRCLE so that the alphabet
inside the CIRCLE is not visible. Darken only one circle for

each answer. The CORRECT and the WRONG method of
darkening the CIRCLE on the OMR answer sheet are
given in the example below:

Correct Method

Ce00

Wrong Method
Ceoe
0Q0O0

O0®00
00®@O

8. Use black ink ball point pen for filling the boxes and
darkening the circle on OMR Answer Sheet. Do not use
pencil.

9. In view of the limited times span, do not waste your
time on a guestion which you find to be difficult. Go on
solving questions one by one and come back to difficult
questions at the end. It is only an advice.

10. Folding/ wrinkling or putting any unwanted mark or
damaging the OMR Answer sheet is prohibited. The
candidate will be responsible for invalidation of the OMR
Answer sheet for doing such deeds.

11. Space has been provided at the end of the Question
Booklet for rough work.

12. The OMR answer sheet will have to be submitted to
the invigilator after the examination. Candidates are
allowed to carry their Question Booklet from the
examination hall after the examination.

13. Questions are in Hindi and English. If any discrepancy
in either of the versions of question is present then that
question will be cancelled.
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